#coke in {0, 1, 2} max =2

#coke = 0 and #sprite = 0 : return_coin #sprite in {0, 1, 2}

PN

true: insert_coin

select

#coke >0 : get_coke

true: refill

H#sprite> 0 : get_sprite

Effect(refill, [Hcoke = ?, #sprite =?]) = [Hcoke = max, #sprite = max]
Effect(insert_coin, [..]) = [..]

Effect(get_coke, [#coke = n, #sprite =m]) = [Hcoke = n-1, #sprite = m]
Effect(get_sprite, [#coke = n, #sprite =m]) = [#coke = n, #sprite = m-1]



refill refill

start, #c start, #c start, #c

=2, #s=1

=2,#s=2 =1, ##s =2

refill

get_coke

refill .
get_sprite
select, #c
=2, #s =2
insert_coin
seIeCIt, #e
=0, #s =0 =0, #s =0

return_coin




